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o FWT g FW T MF §T AeT-T F FRa yO 16 T
g97 32 &
Please make sure that the printed pages in this

question paper are 16 in number and it contains
32 questions.

o ge7-gy T @ER & # o RF T HE THC 7T e A
BT Ga-gieal & JEa-gee 97 kia)
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

* FYF FgT F FIT KIGT & FA G B, FT H FHE
7T fa@
Before beginning to answer a question, its Serial
Number must be written.
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o FuCYRaHE @ diT 7 @il 1/ 97 T 8IS

Don’t leave blank page/pages in your answer-book.

o FIRgRaE F dlakad #E o e T FAah o
ST & ford ST far I T e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o TR T UF To F9T-UF T FIST fE)

Candidates must write their Roll Number on the
question paper.

o FYI g7 F GT &7 § @ 98 ghReEd # & B 9975
g7 7 @E B, yhemr # v 59 G 7 2 T
wheere 78 AT 3

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

qrEr AT

General Instruction :
() qF 797 o &

All questions are compulsory.

(i) 39 9e7-94 § Fd 82 qe7 & o [ €W @vel &,
g goivgFae g
This question paper consists of 32 questions

in all which are divided into four Sections :
A B CandD :
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T o 57 §C F1 716 7% Z 16 797 3,
9% 97 1 7 P B

Section A : There are 16 questions from 1
to 16, each of 1 mark.

@ §: 59 @% 717 21 0% 37 5 797 3,
TR J97 3 3 #T 81

Section B : There are 5 questions from 17
to 21, each of 3 marks.

@8 59 @' 7 22 § 27 7% T 6 5T B,
U J97 4 S Bl

Section C : There are 6 questions from 22
to 27, each of 4 marks.

@S T 50 @ 728 782 7@ F7 5 4 2,
U 97 5 91% FT 81

Section D : There are 5 questions from 28
to 32, each of 5 marks.

(i) & T 7 @ g1 § onmiRke fawey k7 7@ &
g7 @ T 79T B g Bl

Section D contains two questions where
internal choice have been provided. You

have to choose one of them.
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gus - A
SECTION - A

g, D.STSﬂg%mﬂmﬁfﬁﬁm 1

Express 0.375 in the form -g :

2. 6x°-7x-3% IS ¥ : 1
o=
o |2, 2
(D) H & P Tl
The zeroes of 6x> -7x -3 are :
@ 32

(D) None of these

4803/(Set : A)
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3. x+ty=14, x-y=4 % & DFwQ 1

Solve :
x+y=14, x-y=4

4. HF-0 TF M A P. B ? 1
B 27,812, ...
B) 03,022,052, ......
() -10,-6,-2,2, ......
0 1. 3,927, ...

Which one is an A. P. series ?
(A) | 2,8,8,12] ...

1B) | 0.2, B2200.222 ... &
[€) =10, 16; -8 2.08...

D} B8, |W274... B

5. 2,7,12, ...... . A. P. % 10df 95 /g Hifmw 1

Find the 10th term of A. P. 2, 7, 12, ...... .

6. HeH ¥ Ry o=l § § @é o= 5@ B g, Raw
W & AR 1
e Bl B (TatTe, F9en)

4803/(Set : A) Bir &
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Fill in the blank using correct word given in
bracket :

All circles are ............ L (congruent, similar)

7. A THEY PGS B YA H A 4 : 9 B, A T

BTl & YA B 1
(A) 16: 81 B) 8:18
(C) 81:16 D) 12:27

Sides of two similar triangles are in the ratio 4 : 9.
Areas of their triangles are in the ratio :

(A) 16 : 81 (B) 8:18

(C) 81:16 D)\ 12:27

8. Ak I WAEY Y W GG FAW 36 HEZ &R
121 #° B, qt S G geriett 1 orgun B 1

(A) 11:6
B) 6:11
(C) 9:11
(D) & § HIg &l
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If the areas of two similar triangles are 36 m?
and 121m? respectively, the ratio of there
corresponding sides is :

(A) 11:6 B) 6:11
(€} 9%11 (D) None of these

9. T forg Q W T g WX Wl 1@ B TG 24 A AU
Q W T A T 25T 71 gu i B 5 IR 1

From a point Q, the length of tangent to a circle
is 24 cm and distance of Q from centre is 25

cm. Find the radius of circle.

10. (2, 3) AR (4, 1) fegdl & &9 @ gl 7@ F@W 1
Find the distance between the points (2, 3) and
4, 1).

11. 3% Y@ravs @ 79 o4y (3, 4) B Prmwm w R
(7,-2) &, @ g RR @1 Flens forg o it 1

If (3, 4) is mid point of the line segment whose
one end is (7, =2), then find the coordinates of

the other end point.
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13.

14.

(8) 4803/(Set :

tan65°
cot25°

Find the value of

?flﬁ‘s';.inrﬂ's.:E drcos A®:

3
(a) % ®) g

©) %— D) T A B A
If sinA :%’ then cos Ais :

@A) % B) g

©) % D) Noticofthess

A)

Fer 4 @t a0 &% g9 & FeuiEs & aand s
HifTe, Praesr FoT 30° 81 (7 = 3.14 F FET FHi) 1

Find the area of a sector of a circle with radius
4 cm, if angle of the sector is 30°. (Use n = 3.14)

4803/(Set : A)
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15. TgTIG SoF & MUY o A 2r & O IuS Ha% h
31 I ST AR B 1
&) nrh
(B) 2nrh
(C) 2ar(r+h
D) ¥ q P 7

The diameter of the base of right circular
cylinder is 2r and its height is h. The curved

surface area is :
(A) nr2h

(B) 2rnrh

(C) Z2rr(r+h)

(D) None of these

16. T ¥a ¥ 3 Akl 7, 2 woe T IR 4 7w T & Il
% g 37 § Igies fMemt o 8, o 3e a%s BN
@ Sifaehar T BE 7 1

A bag contains 3 blue balls, 2 white balls and 4
red balls. If one ball is taken out at random from
the bag. What is the probability that it will be
White ?
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gs - §

SECTION - B

17. o @ive & V2 s sl der B 3

Prove that 'JE 1s an irrational number.

18. TWE plx)=3x>+x2 +2x+5 CON v

q{x}:x2+2x+1 % ERT AR B AFTRA AR
YT T BT 3

Divide the polynomial p(x)= 3x> + x*4+2x+5
by the polynomial g(x)= x2 +2x+1. Find the

quotient and remainder.

19. 90 §Hl # TE dql UH dSH g8 @ TH ©H D
AT 4 W 1.2 /3. H T T W B I T
9 § 3.6 At B FAR W B, A 4 Y&US d° IG AqSH
T BET @ TS T DI 3

A girl of height 90 cm is walking away from the
base of a lamp-post at a speed of 1.2 m/s. If the
lamp is 3.6 m above the ground, find the length

of her shadow after 4 seconds.
20. E I . 3
secA(l —sin A) (secA+tanA)=1
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21.

22.

23.

(11) 4803/(Set: A)

Prove that :

sec A(l —sin A) (sec A+tan A)=1

aa @ o s A B dawd 6.16 221 3

Find the circumference of a circle whose area is

6.16 cm”.

g - q
SECTION-C
& B : 4
5 1 P 6 3 _
x-1 y-2 x-1 y-2
Solve :
& + . =2 and AL =1
x-1 Y= x=1 =2
TF AreT-are, e R 5w A 18 /A g,

24 fpfl a1 & Sftege o H, @€ g0 9 & AR
oM B SUET 1 Her A il 21 9 @ = s
HIfoTT 4
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24.

25.

26.

27.

(12) 4803/(Set: A)

The speed of motor-boat is 18 km/h in still
water. It takes one hour more to 24 km
upstream than to return downstream the same

distance. Find the speed of the stream.

AP. - 94 101).18, ... % fhod g foq =T, arfe
IAH g1 78 B 7 4

How many terms of A. P. : 24, 21, 18, ......

should be taken so that their sum is 78 ?

fredt o forg @ 9o W dish © @t Yaedt i aE
It B 2, R i 4

Prove that the length of tangents drawn from an

external point to a circle are equal.

fFg (-4, 6), fFget A(-6, 10) X B3, -8) @ e
ait YErErE Hi Y FguE § i st 3 4
In what ratio does the point (-4, 6) divides the
line segment joining the points A(-6, 10) and
B(3, -8).

AW TR § el T 52 Tl B Th TES! F § TH U
fFreprer ST 21 wifdesa s P B @E o () @
THBT EFN, (ii) T SFHT AB1 BT 4
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28.

29.

30.

(13) 4803/(Set: A)

One card is drawn from a well-shuffled deck of
52 cards. Calculate the probability that the card
will (i) be an ace, (ii) not be an ace.

grs - §
SECTION - D

qof &t = 1 A & g 2x% -5x+3=0 @l
B T 5

Solve the equation 2x% -5x+3=0 by
completing the square method.

4 W, 5 AR 6 T e A TH BrgS & =
Hife ST R 309 @9ed @ A9 BgE @ T

aﬁrﬁq,ﬁﬂﬂﬁﬂﬂﬁﬁﬁ@t{ﬁgﬁﬁ@mgmﬁﬁ%
T Al 5

Construct a triangle whose sides are 4 cm, 5 cm
and 6 cm and construct a similar triangle whose

sides are %th of the corresponding sides of

given triangle.

frg $ifog 5

sinb+cos6-1 1
sinf-cos6+1 secOB+tand
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(14) 4803/(Set: A)
Prove that :

sinf+cosB-1 1
sinB@-cosf+1 secH+tanh

HIAT
OR

1.2 9 qll o dghl qH § 88.2 Wl Wl HA® W Th
ffter 3@r # Bl ¥ 98 W@ [ER H aww 8 Rl i
T TS W g § TER B A BT 60° H B
B T W& IEA BT GCHT 30° B AWM Bl &
T B G TR & 7F H T G S i

A 1.2 m tall girl spots a balloon moving with the
wind in a horizontal line at a height of 88.2 m
from the ground. The angle of elevation of the
balloon from the eyes of the girl at any instant is
60°. After some time, the angle of elevation
reduces to 30°. Find the distance travelled by
the balloon during the interval.

oA, Fd 9 uE® @ omand 64 OEE R, & Hord
FAhl B AT TF S a9 O 8 399 W g
& G561 &% ST HiteTg 5
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Two cubes each of volume 64cm® are joined
end to end. Find the surface area of the resulting

cuboid.

32. m i gom sew wF FA F 30 fFEnRE & oww &
@I B el 1 9ras a7 aw Hig 5

a1 (FFofo H)|40-45|45-50 | 50-55|55-60 | 60-65 | 65-70|70-75
fernfeat =t 2 3 8 6 6 3 2
e

The distribution below gives the weight of 30
students of a class. Find the median weight of
the students :

Weight (in kg) | 40-45 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70 | 70-75

Number of 2 3 8 6 B 3 2
Students
STerEr
OR
T Aeet & 25 IRART &1 AT 9T =g FEEiE 2
A X ZAT HeF AT FI B

@9 (%o #) |100-150/150-200{200-250[250-300|300-350
URaRt # qe 4 5 12 2 2
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The table below shows daily expenditure on food
of 25 households in a locality. Find the mean
daily expenditure :

Expenditure (in Rs.) 100-150(150-200200-250250-300(300-350

No. of households 4 8 12 4 .
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